
SAP ABAP table TNCS2 {IS-HCM Message Segment - Field Assignment}

TNCS2

STAND [CHAR (8)]

STVER [CHAR (3)]

SGOWNERCDE [CHAR (2)]

SGNR [CHAR (3)]

LFDFD [NUMC (3)]

FDNAM [CHAR (10)]

TNCF0

STAND [CHAR (8)]

STVER [CHAR (3)]

FDNAM [CHAR (10)] TNCS2-FDNAM = TNCF0-FDNAM 0..N

1

TNCS0

STAND [CHAR (8)]

STVER [CHAR (3)]

SGOWNERCDE [CHAR (2)]

SGNR [CHAR (3)]

 TNCS2-SGNR = TNCS0-SGNR 
0..N

1

TNCST

STAND [CHAR (8)]

STVER [CHAR (3)]

 TNCS2-STAND = TNCST-STAND 

0..N

1

 TNCS2-STVER = TNCST-STVER 

0..N

1


